

$$\begin{array}{c} \longleftrightarrow \\ \gamma \perp b_{j} \quad \text{for all} \quad j \in \{1, l, ..., k\} \\ \hline \gamma \perp b_{j} \quad \text{for all} \quad j \in \{1, l, ..., k\} \\ \hline \gamma = 0 \quad \text{for all} \quad j \in \{1, l, ..., k\} \\ \implies \sum_{j=1}^{k} \lambda_{j} \langle \gamma, b_{j} \rangle = 0 \\ \implies \sum_{j=1}^{k} \lambda_{j} \langle \gamma, b_{j} \rangle = 0 \\ \implies \langle \gamma, \sum_{j=1}^{k} \lambda_{j} b_{j} \rangle = 0 \quad \stackrel{\text{B basis}}{\implies} \begin{array}{c} \gamma \perp u \\ \text{for all} \quad u \in M \end{array}$$

